

On Polynomials over Abelian Rings

Ebrahim Hashemi¹ and Ali Akbar Estaji²

¹*Department of Mathematics, Shahrood University of Technology,
Shahrood, P. O. Box 316-3619995161, Iran*

²*Department of Mathematics, Sabzevar Tarbiat Moallem University,
Sabzevar, P. O. Box 397, Iran*

Received March 27, 2011

Revised November 29, 2011

Abstract. In this paper we study various annihilator conditions over nearrings of polynomials and formal power series over an abelian ring, which were originally used by Rickart and Kaplansky to abstract the algebraic properties of von Neumann algebra. These results are somewhat surprising since, in contrast to the polynomial ring case, the nearrings of polynomials and formal power series have substitution for its “multiplication” operation. As a consequence we obtain a generalization of [10].

2000 Mathematics Subject Classification. 16Y30, 16Y99.

Key words. Baer rings, quasi-Baer rings, reduced rings, IFP rings, nearring of polynomials, formal power series.

1. Introduction

Throughout this paper all rings are associative with unity and all nearrings are left nearrings. We use R and N to denote a ring and nearring, respectively. Recall that a ring or nearring is said to be *reduced* if it has no nonzero nilpotent elements. Recall from [15] that R is a *Baer* ring if the right annihilator of every nonempty subset of R is generated, as a right ideal, by an idempotent. This definition is left-right symmetric. The study of Baer rings has its roots in functional analysis [4, 15]. In [15] Kaplansky introduced Baer rings to abstract various properties of von Neumann algebras and complete $*$ -regular rings.

The class of Baer rings includes the von Neumann algebras (e.g., the algebra of all bounded operators on a Hilbert space), the commutative C^* -algebra $C(T)$ of continuous complex valued functions on a Stonian space T , and the regular rings whose lattice of principal right ideals is complete (e.g., regular rings which are continuous or right self-injective). Armendariz obtained the following result: Let R be a reduced ring. Then $R[x]$ is a Baer ring if and only if R is a Baer ring [2, Theorem B].

Clark [11] defines a ring to be *quasi-Baer* if the left annihilator of every ideal is generated, as a left ideal, by an idempotent. Moreover, he shows the left-right symmetry of this condition by proving that R is quasi-Baer if and only if the right annihilator of every right ideal is generated, as a right ideal, by an idempotent. He then uses the quasi-Baer concept to characterize when a finite-dimensional algebra with unity over an algebraically closed field is isomorphic to a twisted matrix units semigroup algebra. Birkenmeier, Kim and Park proved that, a ring R is quasi-Baer if and only if $R[x]$ is a quasi-Baer ring [7, Theorem 1.8].

Birkenmeier and Huang [8] defined the *Baer-type annihilator conditions* in the class of nearrings as follows (for a nonempty $S \subseteq N$, let $r_N(S) = \{a \in N \mid Sa = 0\}$ and $\ell_N(S) = \{a \in N \mid aS = 0\}$):

- (1) $N \in \mathcal{B}_{r_1}$ if $r_N(S) = eN$ for some idempotent $e \in N$ for every $\phi \neq S \subseteq N$;
- (2) $N \in \mathcal{B}_{r_2}$ if $r_N(S) = r_N(e)$ for some idempotent $e \in N$ for every $\phi \neq S \subseteq N$;
- (3) $N \in \mathcal{B}_{\ell_1}$ if $\ell_N(S) = Ne$ for some idempotent $e \in N$ for every $\phi \neq S \subseteq N$;
- (4) $N \in \mathcal{B}_{\ell_2}$ if $\ell_N(S) = \ell_N(e)$ for some idempotent $e \in N$ for every $\phi \neq S \subseteq N$.

If N is a ring with unity, then $N \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$ is equivalent to N being a Baer ring. When S is an ideal of N , the *quasi-Baer annihilator conditions* on nearrings are also defined similarly except replacing \mathcal{B} by $q\mathcal{B}$. If N is a ring with unity, then $N \in q\mathcal{B}_{r_1} \cup q\mathcal{B}_{r_2} \cup q\mathcal{B}_{\ell_1} \cup q\mathcal{B}_{\ell_2}$ is equivalent to N being a quasi-Baer ring.

Unless specifically indicated otherwise, $R[x]$ denotes the left nearring of polynomials $(R[x], +, \circ)$ with coefficients from R and

$$R_0[x] = \{f \in R[x] \mid f \text{ has zero constant term}\}$$

is the 0-symmetric left nearring of polynomials with coefficients in R . Also, the collection of all power series with positive orders using the operations of addition and substitution is denoted by $R_0[[x]]$ unless specifically indicated otherwise (i.e., $R_0[[x]]$ denotes $(R_0[[x]], +, \circ)$). Observe that the system $(R_0[[x]], +, \circ)$ is a zero-symmetric left nearring. For expositions using this approach, one may refer to [12, 16].

According to Bell [3] a ring R is said to have the *insertion of factors property* (or simply IFP) if $ab = 0$ implies $aRb = 0$ for $a, b \in R$. Reduced rings and commutative rings are IFP rings. A ring R is called *abelian*, if each idempotent is central. The following implications hold:

$$\text{reduced (resp. commutative)} \Rightarrow \text{IFP} \Rightarrow \text{abelian.}$$

There exist some examples to show that the converse of the above implications do not hold.

In this paper first we show that a ring R is abelian if and only if the nerring $R_0[x]$ is abelian if and only if the nerring $R_0[[x]]$ is abelian. Then for an abelian ring R we show that: (1) If $R_0[x]$ or $R_0[[x]]$ satisfies any one of the Baer-type annihilator conditions, then R is a Baer ring. (2) If $R[x] \in \mathcal{B}_{r,1} \cup \mathcal{B}_{r,2}$, then R is a Baer ring. Moreover for an IFP ring R it is shown that, R is quasi-Baer if and only if $R[x] \in q\mathcal{B}_{r,2}$ if and only if $(R[x], +, \cdot)$ is quasi-Baer.

2. Polynomials and formal power series over abelian rings

Lemma 2.1. *Let R be an abelian ring and $(x)\mathcal{E} = \sum_{i=1}^{\infty} e_i x^i$ an idempotent of $R_0[[x]]$. Then $(x)\mathcal{E} = e_1 x$.*

Proof. Since $(x)\mathcal{E} \circ (x)\mathcal{E} = (x)\mathcal{E}$, we have

- (1) $e_1^2 = e_1$,
- (2) $e_1 e_2 + e_2 e_1^2 = e_2$,
- (3) $e_1 e_3 + e_2(e_1 e_2 + e_2 e_1) + e_3 e_1^3 = e_3$,
- (4) $e_1 e_4 + e_2(e_1 e_3 + e_3 e_1 + e_2^2) + e_3(e_1^2 e_2 + e_1 e_2 e_1 + e_2 e_1^2) + e_4 e_1^4 = e_4$,
- (5) \vdots
- (6) $e_1 e_n + e_2 \sum_{i_1+i_2=n} e_{i_1} e_{i_2} + \cdots + e_{n-1} \sum_{i_1+\cdots+i_{n-1}=n} e_{i_1} \cdots e_{i_{n-1}} + e_n e_1^n = e_n$,
- (7) \vdots

Since R is abelian and e_1 an idempotent, Eq.(2) implies that $e_2 = (e_2 + e_2)e_1 = e_2' e_1$. Since R is abelian and $e_1^2 = e_1$, Eq.(3) implies that $e_3 = e_1 e_3 + e_2(e_1 e_2 + e_2 e_1) + e_3 e_1^3 = (e_3 + e_2(e_2 + e_2) + e_3)e_1 = e_3' e_1$. Since $e_2 = e_2' e_1$ and $e_3 = e_3' e_1$ and R is abelian, Eq.(4) implies that $e_4 = e_4' e_1$. Continuing this process yields $e_i = e_i' e_1$ for each $i \geq 1$. Hence $(x)\mathcal{E} = e_1 x + \cdots + e_n x^n + \cdots = e_1 e_1 x + e_2' e_1 x^2 + \cdots + e_n' e_1 x^n + \cdots = (e_1 x) \circ (e_1 x + e_2' x^2 + \cdots + e_n' x^n + \cdots)$. Thus $(x)\mathcal{E} = e_1 x \circ (x)\mathcal{E} = (x)\mathcal{E} \circ e_1 x$. Now by using Eqs. (2)-(7), we have $(x)\mathcal{E} = e_1 x$. ■

If R is a ring, then for each $a \in R$, $a \circ a = a$. Now if $a \neq b$, then $a \circ b = b$ and $b \circ a = a$. Hence the nerring $(R[x], +, \circ)$ is not abelian.

Corollary 2.2. *Let R be a ring. Then the following are equivalent:*

- (1) R is an abelian ring;
- (2) $(R_0[x], +, \circ)$ is abelian;
- (3) $(R_0[[x]], +, \circ)$ is abelian.

Proof. It follows from Lemma 2.1. \blacksquare

Lemma 2.3. *Let R be an abelian ring with unity and $A \subseteq R_0[x]$ or $0 \in A \subseteq R[x]$.*

- (1) *If $r_{R[x]}(A) = r_{R[x]}((x)\mathcal{E})$, for an idempotent $(x)\mathcal{E} \in R[x]$, then $(x)\mathcal{E} = ex$.*
- (2) *If $r_{R[x]}(A) = (x)\mathcal{E} \circ R[x]$, for an idempotent $(x)\mathcal{E} \in R[x]$, then $(x)\mathcal{E} = ex$.*

Proof. (1) Let $(x)g = b_0 + b_1x + \cdots + b_mx^m \in r_{R[x]}(A)$. Then $b_0 = 0$. Let $(x)\mathcal{E} = e_0 + e_1x + \cdots + e_nx^n$. Since $(x)\mathcal{E} \circ (x)\mathcal{E} = (x)\mathcal{E}$, we have $(x)\mathcal{E} \circ (e_0 + (e_1 - 1)x + e_2x^2 + \cdots + e_nx^n) = 0$. Hence $(e_0 + (e_1 - 1)x + e_2x^2 + \cdots + e_nx^n) \in r_{R[x]}((x)\mathcal{E}) = r_{R[x]}(A)$, and by the above argument, $e_0 = 0$. Then by Lemma 2.1, $(x)\mathcal{E} = e_1x$.

(2) Since $A \subseteq R_0[x]$ and $(x)\mathcal{E} \in r_{R[x]}(A)$, hence $(x)\mathcal{E} \in R_0[x]$. Now the result follows from Lemma 2.1. \blacksquare

Proposition 2.4. *Let R be an abelian ring with unity.*

- (1) *If $R[x] \in \mathcal{B}_{r_2}$, then R is a Baer ring.*
- (2) *If $R[x] \in \mathcal{B}_{r_1}$, then R is a Baer ring.*

Proof. (1) Let $S \subseteq R$ and $S_X = \{sx | s \in S\} \subseteq R[x]$. By Lemma 2.3 and our assumption, there exists an idempotent $(x)\mathcal{E} = ex \in R[x]$ such that $r_{R[x]}(S_X) = r_{R[x]}(ex)$.

Now we show that $\ell_R(S) = \ell_R(e)$. Let $a \in \ell_R(e)$. Then $ex \circ ax = aex = 0$. Hence $ax \in r_{R[x]}(ex) = r_{R[x]}(S_X)$. Therefore $0 = sx \circ ax = asx$ and so $as = 0$ for all $s \in S$. Hence $a \in \ell_R(S)$. Now let $b \in \ell_R(S)$. Then $sx \circ bx = bsx = 0$, for all $s \in S$. Thus $bx \in r_{R[x]}(S_X) = r_{R[x]}(ex)$, and so $0 = ex \circ bx = bex = 0$. Hence $b \in \ell_R(e)$ and $\ell_R(S) \subseteq \ell_R(e)$. Therefore $\ell_R(S) = \ell_R(e)$ and $R \in \mathcal{B}_{r_2}$. Since R has unity, hence it is Baer.

Let $S \subseteq R$ and $S_X = \{sx | s \in X\} \subseteq R[x]$. By Lemma 2.3 and our assumption, there exists an idempotent $(x)\mathcal{E} = ex \in R[x]$ such that $r_{R[x]}(S_X) = ex \circ R[x]$.

Now we show that $\ell_R(S) = Re$. Since $r_{R[x]}(S_X) = (ex) \circ R[x]$, we have $0 = (sx) \circ (ex) = esx$, for each $s \in S$. Hence $e \in \ell_R(S)$ and $Re_1 \subseteq \ell_R(S)$. Let $a \in \ell_R(S)$. Then $as = 0$ and so $(sx) \circ (ax) = asx = 0$, for each $s \in S$. Thus $(ax) \in r_{R[x]}(S_X) = (ex) \circ R[x]$ and $ax = (ex) \circ (ax)$. Hence $a = ae \in Re$ and $\ell_R(S) \subseteq Re$. Therefore $\ell_R(S) = Re$ and R is a Baer ring. \blacksquare

We now turn to the problem of extending Baer-type annihilator conditions from R to $R_0[x]$ and $R_0[[x]]$.

Proposition 2.5. *Let R be an abelian ring with unity. Then*

- (1) *$R \in \mathcal{B}_{r_1}$ if and only if $R_0[x] \in \mathcal{B}_{\ell_1}$;*
- (2) *$R \in \mathcal{B}_{r_2}$ if and only if $R_0[x] \in \mathcal{B}_{\ell_2}$;*
- (3) *$R \in \mathcal{B}_{r_1}$ if and only if $R_0[[x]] \in \mathcal{B}_{\ell_1}$;*

(4) $R \in \mathcal{B}_{r_2}$ if and only if $R_0[[x]] \in \mathcal{B}_{\ell_2}$.

Proof. (1) Assume $R_0[x] \in \mathcal{B}_{\ell_1}$. Let S be a subset of R and define $S_X = \{sx | s \in S\}$ a subset of $R_0[x]$. By Lemma 2.1 and our assumption, there exists an idempotent $(x)\mathcal{E} = ex \in R[x]$ such that $\ell_{R_0[x]}(S_X) = R_0[x] \circ ex$.

Now we show that $r_R(S) = eR$. Since $ex \in \ell_{R_0[x]}(S_X)$, hence $0 = ex \circ sx = sex$ for each $s \in S$. Then $eR \subseteq r_R(S)$. Let $b \in r_R(S)$. Then $sb = 0$ and so $bx \circ sx = 0$, for each $s \in S$. Hence $bx \in \ell_{R_0[x]}(S_X) = R_0[x] \circ ex$. Thus $bx = bx \circ ex$ and that $b = eb \in eR$. Thus $r_R(S) \subseteq eR$ and hence $r_R(S) = eR$. Therefore $R \in \mathcal{B}_{r_1}$.

Now, assume $R \in \mathcal{B}_{r_1}$. Since R is abelian, hence R is reduced. Thus the result follows from [8, Proposition 3.7].

(2) Assume $R_0[x] \in \mathcal{B}_{\ell_2}$. Let S be a subset of R and define $S_X = \{sx | s \in S\}$ a subset of $R_0[x]$. By Lemma 2.1 and our assumption, there exists an idempotent $(x)\mathcal{E} = ex \in R[x]$ such that $\ell_{R_0[x]}(S_X) = \ell_{R_0[x]}(ex)$.

Now by a similar argument as used in (1), we can show that $r_R(S) = r_R(e)$. Therefore $R \in \mathcal{B}_{r_2}$.

Conversely, assume that $R \in \mathcal{B}_{r_2}$. Since R is abelian and has unity, hence R is reduced. Thus the result follows from [8, Proposition 3.7].

(3) Since R is abelian, hence if $R \in \mathcal{B}_{r_1}$, then R is reduced. Thus by [9, Proposition 3.4], $R_0[[x]] \in \mathcal{B}_{\ell_1}$.

If $R_0[[x]] \in \mathcal{B}_{\ell_1}$, then by using Lemma 2.1 and an argument as used in the proof of (1), we can show that $R \in \mathcal{B}_{r_1}$. ■

Theorem 2.6. *Let R be an abelian ring with unity.*

- (1) *If R is Baer, then $R_0[x] \in \mathcal{B}_{r_1} \cap \mathcal{B}_{r_2} \cap \mathcal{B}_{\ell_1} \cap \mathcal{B}_{\ell_2}$;*
- (2) *If $R_0[x] \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$, then R is Baer;*
- (3) *If R is Baer, then $R_0[[x]] \in \mathcal{B}_{r_1} \cap \mathcal{B}_{r_2} \cap \mathcal{B}_{\ell_1} \cap \mathcal{B}_{\ell_2}$;*
- (4) *If $R_0[[x]] \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$, then R is Baer.*

Proof. (1) Since R is an abelian Baer ring, hence it is reduced. Thus the result follows from [8, Theorem 3.8].

(2) Assume that $R_0[x] \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$. From [8, Lemma 2.2] and Proposition 2.5, we need only to prove for $R_0[x] \in \mathcal{B}_{r_2}$. Assume $R_0[x] \in \mathcal{B}_{r_2}$. Let S be a subset of R and define $S_X = \{sx | s \in S\}$ a subset of $R_0[x]$. By Lemma 2.1 and our assumption there exists an idempotent $(x)\mathcal{E} = ex \in R_0[x]$ such that $r_{R_0[x]}(S_X) = r_{R_0[x]}(ex)$. Now by a similar argument as used in the proof of Proposition 2.4, we can show that $\ell_R(S) = \ell_R(e)$. Therefore R is a Baer ring.

(3) Since R is an abelian Baer ring, hence it is reduced. Thus the result follows from [9, Theorem 3.5].

(4) By using Lemma 2.1 and a similar argument as used in the proof of (2), we can prove it. ■

The following example shows that the hypothesis, assuming R is abelian in Theorem 2.6, is not superfluous.

Example 2.7. There exists a Baer ring R such that $R_0[x] \notin \mathcal{B}_{r_2}$ and $R_0[[x]] \notin \mathcal{B}_{r_2}$. Let $R = \begin{pmatrix} \mathbb{Z}_2 & \mathbb{Z}_2 \\ 0 & \mathbb{Z}_2 \end{pmatrix}$ be the upper 2-by-2 matrix ring over the field of integers \mathbb{Z}_2 . The ring R is Baer by [15, p.16] and R has 8 elements namely, $\{0 = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}, e_1 = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}, e_2 = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}, 1 = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, e_3 = \begin{pmatrix} 1 & 1 \\ 0 & 0 \end{pmatrix}, e_4 = \begin{pmatrix} 0 & 1 \\ 0 & 1 \end{pmatrix}, q = \begin{pmatrix} 0 & 1 \\ 0 & 0 \end{pmatrix}, \alpha = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}\}$. Note that $q^2 = 0, \alpha^2 = 1$ and $0, 1, e_1, e_2, e_3, e_4$ are idempotents in R . Let $(x)\varepsilon = \sum_{i=1}^{\infty} \varepsilon_i x^i$ be a nonconstant idempotent in $R_0[[x]]$. If $\varepsilon_i \in \{0, q\}$ for all $i \geq 1$, then $(x)\varepsilon \circ (x)\varepsilon = 0$, since $q^2 = 0$. Therefore there exists at least one ε_j such that $\varepsilon_j \notin \{0, q\}$ for some $j \geq 1$. Let k be the smallest number such that $\varepsilon_k \notin \{0, q\}$. Observe that $qa + aq \in \{0, q\}$ for all $a \in R$, and $a^2 \in \{1, e_1, e_2, e_3, e_4\}$, if $a \notin \{0, q\}$. Hence the coefficient of x^{2k} in the power series $(x)\varepsilon.(x)\varepsilon$ is $\varepsilon_k \varepsilon_k + (\varepsilon_{k+1} \varepsilon_{k-1} + \varepsilon_{k-1} \varepsilon_{k+1}) + \cdots + (\varepsilon_{2k-1} \varepsilon_1 + \varepsilon_1 \varepsilon_{2k-1}) = \varepsilon_k^2 + (0 \text{ or } q) + \cdots + (0 \text{ or } q) \neq 0$. Therefore $x^2 \notin r_{R_0[[x]]}((x)\varepsilon)$ for any nonconstant idempotent $(x)\varepsilon \in R_0[[x]]$. Let $I = \begin{pmatrix} 0 & \mathbb{Z}_2 \\ 0 & 0 \end{pmatrix}$. Observe that $x^2 \in r_{R_0[[x]]}(I_0[[x]])$, since $(x)f.(x)f = 0$, for each $(x)f \in I_0[[x]]$. Since $r_{R_0[[x]]}(I_0[[x]]) \neq R_0[[x]] = r_{R_0[[x]]}(0)$, hence $r_{R_0[[x]]}(I_0[[x]]) \neq r_{R_0[[x]]}((x)\varepsilon)$ for each idempotent $(x)\varepsilon \in R_0[[x]]$. Therefore $R_0[[x]] \notin \mathcal{B}_{r_2}$.

By a similar argument we can show that $R_0[x] \notin \mathcal{B}_{r_2}$.

Corollary 2.8. *Let R be an abelian ring with unity. Then the following are equivalent*

- (1) R is Baer;
- (2) $(R[x], +, \cdot)$ is Baer;
- (3) $(R_0[x], +, \circ) \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$;
- (4) $(R[[x]], +, \cdot)$ is Baer;
- (5) $(R_0[[x]], +, \circ) \in \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$.

Proof. This follows from [7, Corollary 1.10] and Theorem 2.6. ■

The following example shows that our Corollary 2.8 is not implied from [8, Theorem 3.8] and [9, Theorem 3.5].

Example 2.9. Let R be an abelian ring and $n \geq 2$. Let

$$S = \left\{ \left(\begin{array}{cccccc} a & a_{12} & a_{13} & \cdots & a_{1n} \\ 0 & a & a_{23} & \cdots & a_{2n} \\ 0 & 0 & a & \cdots & a_{3n} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \cdots & a \end{array} \right) \mid a, a_{ij} \in R \right\}.$$

Clearly S is not reduced, but S is abelian by [14, Lemma 2]. Since S is not

Baer, hence $(S[x], +, \circ) \notin \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2}$, by Proposition 2.4. Also $(S_0[x], +, \circ) \notin \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$ and $(S_0[[x]], +, \circ) \notin \mathcal{B}_{r_1} \cup \mathcal{B}_{r_2} \cup \mathcal{B}_{\ell_1} \cup \mathcal{B}_{\ell_2}$ by Theorem 2.6.

Proposition 2.10. *Assume R is an abelian ring with unity. Let S be the subnearing of $R_0[x]$ generated by the set $\{ex|e = e^2 \in R\}$ and T a subnearing of $R_0[x]$. If $R_0[x] \in \mathcal{B}_{v_i}$, where $v \in \{r, \ell\}$ and $i \in \{1, 2\}$, and $S \subseteq T$, then $T \in \mathcal{B}_{v_i}$.*

Proof. (1) Assume that $R_0[x] \in \mathcal{B}_{r_1}$. Let A be a nonempty subset of T . There exists an idempotent $(x)\mathcal{E} = ex \in R_0[x]$ such that $r_{R_0[x]}(A) = ex \circ R_0[x]$. Note that $(ex) \circ T \subseteq T$ and $(ex) \circ T \subseteq (ex) \circ R_0[x] = r_{R[x]}(A)$, and so $(ex) \circ T \subseteq r_T(A)$. On the other hand, let $(x)f \in r_T(A)$. Then $(x)f \in r_{R_0[x]}(A) = (ex) \circ R_0[x]$ and so $(x)f = (ex) \circ (x)f \in (ex) \circ T$, and thus $r_T(A) \subseteq (ex) \circ T$. Hence $T \in \mathcal{B}_{r_1}$.

(2) Assume that $R_0[x] \in \mathcal{B}_{r_2}$. Let A be a nonempty subset of T . There exists an idempotent $(x)\mathcal{E} = ex \in R_0[x]$ such that $r_{R_0[x]}(A) = r_{R_0[x]}(ex)$. We want to show that $r_T(A) = r_T(ex)$. If $(x)g \in r_T(A)$, then $(x)g \in r_{R_0[x]}(A) = r_{R_0[x]}(ex)$, and so $(e_1x) \circ (x)g = 0$. Therefore $(x)g \in r_T(ex)$. On the other hand, if $(x)h \in r_T(ex)$, then $(x)h \in r_{R_0[x]}(ex) = r_{R_0[x]}(A)$. That is $\alpha \circ (x)h = 0$ for all $\alpha \in A$, and so $(x)h \in r_T(A)$. Hence $r_T(A) = r_T(ex)$ and $T \in \mathcal{B}_{r_2}$.

The other cases follow a similar argument to that used in (1) and (2). ■

Example 2.11. Assume R is an abelian ring with unity. Let T be any following nearing. If $R_0[x] \in \mathcal{B}_{v_i}$, where $v \in \{r, \ell\}$ and $i \in \{1, 2\}$, then by using Propositions 2.10 and 2.5, $T \in \mathcal{B}_{v_i}$.

- (1) $\{ax|a \in R\}$,
- (2) $\{(x)f = \sum_{i=1}^n a_{2i-1}x^{2i-1} \in R_0[x]|n \in \mathbb{N}\}$,
- (3) $\{(x)f = \sum_{i=1}^{\infty} a_{2i-1}x^{2i-1} \in R_0[[x]]\}$,
- (4) $E_0[x]$, where E is a subring containing all idempotents of R ,
- (5) $E_0[[x]]$, where E is a subring containing all idempotents of R .

Theorem 2.12. *Let R be an IFP ring with unity. Then the following are equivalent*

- (1) R is quasi-Baer;
- (2) $R[x] \in q\mathcal{B}_{r_2}$;
- (3) $(R[x], +, \cdot)$ is quasi-Baer.

Proof. The equivalence of (1) and (3) follows from [7, Theorem 1.8].

(1) \Rightarrow (2). Assume R is a quasi-Baer ring. Since R is IFP, hence it is Baer. Now the result follows from [10, Theorem 2.4].

(2) \Rightarrow (1). Assume $R[x] \in q\mathcal{B}_{r_2}$. Let A be an ideal of R and $A[x]$ the nearing of polynomials over A . Let $(x)a = \sum_{i=0}^m a_i x^i \in A[x]$, and $(x)f, (x)g = \sum_{j=0}^n g_j x^j \in R[x]$. Observe that $(x)f \circ (x)a = \sum_{i=0}^m a_i ((x)f)^i \in A[x]$ and $((x)a + (x)f) \circ (x)g - (x)f \circ$

$(x)g = \sum_{j=0}^n g_j((x)a + (x)f)^j - \sum_{j=0}^n g_j((x)f)^j = \sum_{j=1}^n g_j[((x)a + (x)f)^j - ((x)f)^j] \in A[x]$. Therefore $A[x]$ is an ideal of $R[x]$. Since $R[x] \in q\mathcal{B}_{r_2}$, there exists an idempotent $(x)\varepsilon \in R[x]$ such that $r_{R[x]}(A[x]) = r_{R[x]}((x)\varepsilon)$. Note that $(x)\varepsilon = ex$, by Lemma 2.3. We will show that $\ell_R(A) = \ell_R(e) = R(1 - e)$. Let $a \in A$ and $\alpha \in R$ be arbitrary. Since $\alpha(1 - e)x \in r_{R[x]}((x)\varepsilon) = r_{R[x]}(A[x])$, we have $0 = ax \circ \alpha(1 - e)x = \alpha(1 - e)ax$. Therefore $\alpha(1 - e)a = 0$ and so $R(1 - e) \subseteq \ell_R(A)$. On the other hand, if $\alpha \in \ell_R(A)$, then $\alpha a = 0$ for all $a \in A$. Hence $\alpha x \in r_{R[x]}(A[x]) = r_{R[x]}((x)\varepsilon)$. Then $0 = ex \circ \alpha x = \alpha ex$, and so $\alpha \in \ell_R(e) = R(1 - e)$. Hence $\ell_R(A) = R(1 - e)$. ■

Example 2.7 also shows that the hypothesis, assuming R is abelian in Theorem 2.12, is not superfluous.

Since each reduced ring is IFP, hence we have the following:

Corollary 2.13. [10, Theorem 2.4] *Let R be a reduced ring. Then the following are equivalent*

- (1) R is Baer;
- (2) $R[x] \in q\mathcal{B}_{r_2}$;
- (3) $(R[x], +, \cdot)$ is Baer.

Acknowledgment. The authors thank the referee for his/her valuable comments and suggestions.

References

1. D. D. Anderson and V. Camillo, Armendariz rings and Gaussian rings, *Commun. Algebra* **26** (1998), 2265-2275.
2. E. P. Armendariz, A note on extensions of Baer and p. p. -rings, *J. Aust. Math. Soc.* **18** (1974), 470-473.
3. H. E. Bell, Nearrings in which each element is a power of itself, *Bull. Aust. Math. Soc.* **2** (1970), 363-368.
4. S. K. Berberian, *Baer *-Rings*, Springer, Berlin, 1972.
5. G. F. Birkenmeier, J. Y. Kim and J. K. Park, On quasi-Baer rings, *Contemp. Math.* **259** (2000), 67-92.
6. G. F. Birkenmeier, J. Y. Kim and J. K. Park, Principally quasi-Baer rings, *Commun. Algebra* **29** (2001), 639-660.
7. G. F. Birkenmeier, J. Y. Kim and J. K. Park, Polynomial extensions of Baer and quasi-Baer rings, *J. Pure Appl. Algebra* **159** (2001), 24-42.
8. G. F. Birkenmeier and F. K. Huang, Annihilator conditions on polynomials, *Commun. Algebra* **29** (2001), 2097-2112.
9. G. F. Birkenmeier and F. K. Huang, Annihilator conditions on formal power series, *Algebra Colloq.* **9** (2002), 29-37.
10. G. F. Birkenmeier and F. K. Huang, Annihilator conditions II, *Monatsh. Math.* **141** (2004), 265-276.
11. W. E. Clark, Twisted matrix units semigroup algebras, *Duke Math. J.* **34** (1967), 417-424.

12. J. R. Clay, *Nearrings: Geneses and Applications*, Oxford University Press, Oxford, 1992.
13. F. K. Huang, On polynomials over Rickart rings and thier generalizations I, *Monatsh. Math.* **151** (2007), 45-65.
14. C. Huh, H. K. Kim and Y. Lee, p.p. rings and generalized p.p. rings, *J. Pure Appl. Algebra* **167** (2002), 37-52.
15. I. Kaplansky, *Rings of Operators*, Benjamin, New York, 1965.
16. H. Kautschitsch and R. Miltz, Maximal ideals in composition rings of formal power series, *Contrib. Gen. Algebra* **6** (1989), 131-141.
17. J. Krempa, Some examples of reduced rings, *Algebra Colloq.* **3** (1996), 289-300.
18. M. B. Rege and S. Chhawchharia, Armendariz rings, *Proc. Japan Acad. Ser. A Math. Sci.* **73** (1997), 14-17.